b =2
2013 FFEBEE - 22 5T AN 2R

R 4 F fedls
SRR H AT 812
2k W 4
%2 gy 5

AN

I P B SIS eI KRB ZEE 4R
L ARG R AR AR TERL

2. BRMLNGiGE T, TXERE, REF
EIE T -

3v WA FARYRAL B et

N

AL sl

o=

ARG £ R, 4L =

=




—. &8 (B854, 34045

1.

Gt B FURE XA ERELE SCRTA? BT TR, A T4 A
PRI S A2

SR RAL G 1)sE UK, BRI R AR AN PR 2 i H
TSR R AR ?

AL FZE? AT AR LT T 2 EATRIARXS /N AT A~ v D £ 5
2

I TEEREESS ? SR JBLRBESS (1) 2R A T4 ?

st A R E? T AR R I AR S, A R B 28 LA R 1 ) 2 A
7

VLR SRR L 5E SC, AT 2 15 H S WA S S DA Ok 2
PRAR ER) 5 110 5 A 908 2 5 2% TR) 7 1) TG 92 17 MR PR AAC TR R S e A 2 3k = 1]
#I7 I BRI A? A A

PUPRKR SRS [ AR S AH A (T 12

« HMEMrSUTER (BE6 2, 3£305)
T AEEDINE L T A PR IR AR L, BURPTRRRE DL R BE A 2 T

AN B B S A3 AT 2 G B B

(1) PGS g 135 4 2 2R oA

(2> —My s 2RI FE5AT, — M58 =2RIA 5%
71~ TV ) 3 PN i RSN IS, I R 2 T A% TR A RIS AR A,
IFREAT fa] ST
—HAHK d F/NER 1 BT EHARN D=2d Z0ERTE 2 I, K RE
Xi1 s Xior Xoir Xoze

(efvee) W S L3



4. FRAEIR 22 (R A s S TR B « DK BH 8 B s W AR PR AR ) A SR s PR 2
BRI ?

5. A EWMEZTNFRRE, HIRBL DR 5, 2] e

=. (154M
AR Av B 41— 5T CInEpTR), JEREESHA La « L »

ZEM T (x=0) FRAFFIEIR to , AR b TR A £, (Bet, > 1) S, RIE
XA IR RN h, RS SRS ] ) 42 A R BB 5 B S5 P i A o
(D i B AP R RS E R q A5
(2) HESRGEHE, SFAR A R B 2SR 6 WA A
(3) B FHRARE A < A, HIH X

Ly Ls M0 Bl oo RS ASELEE A AT A
/‘1".-1 /i.E tx‘ h
ty / n\tl \—/.\
x=0 X
/g, (15 43)
SRR IS ST — B N L. 2mmf R ERTE, VI A20°C, HAE Sk
p=8930kg/m*, c, =400J/(kg-C). KHIIAB0CHIUH, X FREL

h =80 W/(m*-C) o 5 tH A HL AL B ¢ I 1) AR AR Ak bR 20, 2R L A ) B ) 5

Motz /b ged 2 /DR JE B I R ] TE B =79, 9°C ?

Fiv (2040

FEURE [ 4 100°C HYM 812 7] 22— MR AR Smm. KJE 4 100mm 7K

WFE, HRSHRERECN 386 (W/m-°C) , FFEEEE A 30 °C A< LL 6 m/s 1
() % H2ol 631



SR R g, SRS REECH 0.03 (Wm °C). B5hEE N 1.8x107
m*/s, Pr=0.7, 2% CHEHA A I R e F0m R AE 7 R Nu=0.193Re"¢"*pr'?,

el —e*

SKIGIE: (1D AR DA TR EE s (2) BRI 22 /0 ? 7E: sh(x)= >

X

e +e7* e*—e
,th(X)=——=-
e’ +e

X —X

ch(x)=

75~ (1543)

LEPASPAT IBCE P AHFEAR VT AR TR 1A 2 2208, 4l N —BqR i B3 A2 f
MREANSEISE —HOPA . B0 6,=300°C, t. =100°C, & =0.5, &, =0.8. Fa#&HT,
PR3 K A THIEH A4 1IN, A3 RS 170 °C, 241 3 1) B THIEH ]
BT, B3 AOHREE A 260 °C. i) 1) L RS BT FR e S Ak X 2
2) e R =YCPRRT AL B & HIERE. 3D WEMWRMEL N, PR 1 A2
ZIE] (AR S A

+. (154

AR AR, T RAEE NS, WEUKIEE NS LR s PR
A t, =80°C , t, =55°C , Ji & W AE N q,,=1800kg/h , Lt # K
C, =2.0kJ /(kg - K) , R EIKRE DM E At =20°C , iR % M g, =1500kg / h,
Lb#h e, =418k /(kg-K), &JEGE MR, =50mm BEEN 6 =2mm, TR
R 45WI(m.K)o B A LIRS AR E h =800W /(m? - K) , 7Kl F% i 46t
WEHh, =2000W /(Mm* - K) , 1A E 230G T 75 22 A Ak i AR Ao oh 2

Y

[5¢

(efvee) W S L3

]



	试题封面生成812-A.pdf
	812-A new.pdf

